For this ideal op-amp circuit, we want to find the current through the 6 kOhm resistor.
To analyze a circuit containing op-amps, we often must find the output voltages of the op-amps.

Firstly, we should label the output of the op-amp as vo.

The current is the variable of interest. 

We will label the voltage at the top of the 6 kOhm v1.

If we can find v1, the current will the v1 divided by 6 kOhms.

Let’s find the output voltage of the op-amp.

Since the op-amp is ideal, the voltages of the inputs are equal, in this case 3 volts.

The input currents are also ideal for an ideal op-amp.

Apply KCL to the input terminal, we’ll call it node 1.

We’ll assign a positive sign for current entering the node and a negative for current leaving the node.

The equation is zero minus 3 volts divided by 4 kOhm plus vo minus 3 divided by 20 kOhm, which is the current through the 20 kOhm resistor.

These sum to zero.

We can now rearrange the equation as follows.

We’ll now multiply both sides by 20 k.

We’ll now solve for vo.

[math equations]

After solving this equation vo becomes 18 volts.

After we’ve found vo, we’d like to find v1 so we can solve for the current i.

We can combine the two resisters into one equivalent resistance.

For two parallel resistors, the equivalent resistance is the product of the resistances divided by the sum of the resistances.

This becomes 2 kOhm.

This portion of the circuit can now be replaced by two resistors.

We can now find v1.
The current through the circuit is vo divided by the total resistance.

[math equations]

This equation gives current multiplied by resistance which gives the voltage v1.

This results in 6 volts.

If we look at the original circuit, the current i is 6 divided by 6 kOhm, which is 1 mA.

